
Electricity And Mognetism
Review Test June 2OO8

What is the maximum amount of work that a
6000.-watt motor can do in 10. seconds?

Nome

t9

This yeor there were L7 credits out of 85 possible or obout zo% of the test

22 An electron is located in
between two parallel metal
the diagram Lrr.l \/.

the electric field
plates as shown in

(1 )
(2)

(1)
(2)
(3)

6.0 x  t01J
6.0 x 102 J

(3) 6.0 x 103 J
(4) 6.0 x 104 J

20 Three resistors, 4 ohms, 6 ohms, and 8 ohms, are
connected in parallel in an electric circuit. The
equivalent resistance of the circuit is
(1) less than 4 Q
( 2 )  b e t w e e n 4 Q a n d S Q
(3) between 10. Q and 18 Q
(4) 18 o

Note that question 2l has only three choices.

21 An electric circuit contains a variable resistor
connected to a source of constant voltaqe. As the
resistance of the variable resistor is i"ncreased.
the power dissipated in the circuit

decreases
increases
remains the same

(1) 2.50 x 1013 A
(2) a.zS x ld A

( I )  2.16 x lOa I
(2) z.+o x 103 j

If the electron is attracted to plate A, then plate
A is charged
(1) positively, and the electric field is directed

from plate A toward plate B
(2) positively, and the electric fteld is directed

from plate B toward plate A
(3) negatively, and the electric field is directed

from plate A toward plate B
(4) negatively, and the electric field is directed

from plate B toward plate A

23 A potential difference of 10.0 volts exists
between two points, A and B, within an electric
field. What is the magnitude of charge that
requires 2.0 x 10-2 joule 6f work to movelt from
A t o B ?
(1) 5.0 x 102 C (3) S.O x t0-2 C
(2) 2.0 x 10-1C (4) 2.0 x 10+ C

24 A circuit consists of a resistor and a batterv.
Increasing the voltage of the battery whife
keeping t[e temperatire of the circuit constant
would result in an increase in
(1) current, only
(2) resistance, only
(3) both current and resistance
(4) neither current nor resistance

{6 Charge flowing at the rate of 2.50 x 1016 elementary charges per second is equivalent to a current of
(3) 4.00 x 10r A
(4) 2.50 x l0r A

47 An electric drill operating at 120. volts draws a current of 3.00 amperes. What is the total amount of
electrical energy uied by [he drill during 1.00 minute of operation? 

'

(3) 3,60 x lOe ]
(4) 4.00 x 10r I



58 Two small identical metai spheres, A and B,
on insulated stands, are each given a charge of
+2.0 x 104 coulomb. The &stance between the
spheres is 2.0 x 10-1 meter. Calculate the
magnitude of the electrostatic force that the
charge on sphere A exerts on the charge on
spheie B. 

- 
lShow all work, including the

equation and substitution with units.] t2l

Base your answers to questions 59 and 60 on the information and diagram below'

A 10.0-meter length of copper wire is at 20oC' The ra&us of the wire is l'0 x lOJ meter'

Cross Section of CoPPer Wire

59 Determine the cross-sectional area of the wire' tll

60 calculate the resistance of the wire. [show all worh including the equation and substitution with units'] t2)

Base your answers to questions 65 through 67 on the information and diagram below.

A 15-ohm resistor, Rr, and a 30.-ohm resistor, Rr, are to be connected in parallel
between points A and B in a circuit containing a 90,-volt battery.

65 Complete the diagram in you,r ansuer bookla to show the two resistors connected in parallel between
points A and B. Ill

66 Determine the potential difference across resistor Rr. tll

67 Calculate the current in resistor Rr. lShow all work, including the equalion and substitution with units.] t2l

r = 1 . 0 x 1 0 - 3 m
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